(ITQ)

MS
2007/2010

1142 B 60

-7 (

( : WTOQW12345678-

MS-Office 2007/2010

WHTQW)

.pptx).
PC

A4 Paper
6 1

WITQwWPicture

GE U= e s

KOREA PRODUCTMTY CENTER

[Zx7 4] (60%&)
(1) : A4
) . 2~6 , ,
( , 40pt, ), ( WITOQWPIicture®  3.jpg , ( ) )
[E2l0[= 1] <EX| Clxjel> (40=)
(1) : ( )
---------------------------------------------------- ___._...:_-_:_'_,'.-' .-::"ll
—— - /
i _ _ f
D YSOoE &Y : = R f
- 22 2A, 2 Iy > —
L BRAb D 1/2 BRAL BRI et i
@ 12 we GeOgrath
L~ LI MWITQWPICtureW OrY
2 13.jpg : s y
|- iReige) sguoz By /S ‘
I ] .-".I _,-I TTH RAe D /
-/ y
I__.": /____,-’
.--"'ff-'
."I#,/"'f.-
[E2l0]= 2] <5i &20|=> (60%)
@ ( ) ( : , 24pt, ).
2 D III.- 1\
( ¢ =] ) )
D BAs0 soIHYA N T

—> ‘&etole 4

@ 1z s

L - TLI2 AWITQWPICturew
: O24.jpg,

S =SIIPIENE=

\

__.-"
\_
g

TlelsAs S8 1

x2istel meiciet {1} 1

i

)

HEg HENHIE

%

.,—A;:

AelZel & =3t




[S210|= 3] <HAE/SYA S2I0|=>

(1) :

Abwmv
- AHSaE, st 48

1)

=8 2 E8ol X

: JeiEolE &t
. DERHRE

All
A

(60&)
v, ™
, 115 ), = ( , 20pt, 15
(( x2St Ate| S )

v" Properties

v 8%

S

recognized as a discrete discipline and

Kb A

S0l tisto =2 X ez 7|

o =y

= The 18th century, geography had become

became part of a typical university curriculum
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